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Area of Compound Shapes
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Note: Compound shapes are not o scale.




image2.png
Zem

o

7em.

=

o

Totat.

EE

Tota:

o

o





image3.png
T 0
T
5
s Tim <
. £
sm T5m
Toa Tt
B B e
om =
&
3m 5 H B
S |5 - B
0
T





image4.png
Answer

Identify the shapes where the area can be calcuated Calculate the area of each compound shape.

1| Total: 42cm* 6 | Total: 96em*
2 | Total: 35em* 7 | Total: 57em*
3 | Total: 38em* 8 | Total: 88em*
4 | Total: 42cm* 9 | Total: 94cm®
5 | Total: 38cm* 10 | Total: 104cm®

* ok k

Question Answer

Identify the shapes where the area can be calcuated Calculate the area of each compound shape.

1| Total: 108m* 4 | Total: 71m*

a 14m b: 6m c: 6m ¢ 2m e: 3m
2| Total: 98m* 515 em g sm e 1om
3| rotst some o | @ 12m b: 4m c: 10m ¢ 3m & 4m

f.5m g 6m h 3m i 12m j 15m





